>

-

1=
o 2 3] S
2 = s 2 > 3
(2 a c 0 = =
o} 9 [} o = iz
T 5 g & 5 5
e 2 G} o Satze Diff | Pkte
B.Hersfeld 1 15| 4 12 | 10 6| 8 8 | 16 0 | 39 41| -2 7
Schleswig 15 : 1 8 : 8|13 : 3|12 : 4|16 : 0O |64 : 16| 48 13
Gladenbach 12 : 4|18 : 8 13 : 3|12 : 4 |16 : 0 |61 : 19| 42 13
Passau 6 10| 3 13| 3 13 11 : 5 | 16 0 [ 39 41 | -2 6
Reutlingen 8 8 | 4 12| 4 12| 5 : 11 16 037 : 43| -6 4
Ortenau 0 16| O 16| O 16| 0 : 16| O 16 0 80 | -80 0
Sieger
Teilnehmer 1: B.Hersfeld Schleswig
2. Platz
Teilnehmer 2: Schleswig Gladenbach
3. Platz
Teilnehmer 3: Gladenbach B.Hersfeld
4. Platz
5. Platz
Teilnehmer 5: Reutlingen Reutlingen
6. Platz
Tei.nehmer& Ortenau
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B.Hersfeld 1 Passau 11
Schleswig 15 Reutlingen 5
Gladenbach 13 Gladenbach 16
Passau 3 Ortenau 0
Reutlingen 16 B.Hersfeld 10
Ortenau 0 Passau 6
Schleswig 8 Schleswig 12
Gladenbach 8 Reutlingen 4
B.Hersfeld 8 B.Hersfeld 16
Reutlingen 8 Ortenau 0
Passau 16 Schleswig 13
Ortenau 0 Passau 3
B.Hersfeld 4 Gladenbach 12
Gladenbach 12 Reutlingen 4
Schleswig 16
Ortenau 0
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Landshut 3 13| 9 71| 6 1013 : 3 | 16 0 | 47 33| 14 9
Braunschweig 13 : 3 14 : 2 (10 : 6 |14 : 2 | 16 0|67 : 13| 54 15
Traunstein 7 9| 2 14 5 11 (10 : 6 | 16 0 |40 : 40 0 6
Firth 10 : 6 6 10|11 : 5 15 : 1 | 16 0|58 : 22| 36 12
Rosenheim 3 13( 2 : 14| 6 10| 1 15 16 0 (28 : 52| -24 3
Frei 0 16| 0 : 16| O 16| O 16| O 16 0O : 80| -80 0
Sieger
Teilnehmer 1: Landshut
2. Platz
3. Platz
Tennehmerg; Landshut
4. Platz
5. Platz
6. Platz
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Landshut 3 Firth 15

Braunschweig 13 Rosenheim 1

Traunstein 5 Traunstein 16

Firth 11 Frei 0

Rosenheim 16 Landshut 6

Frei 0 Furth 10

Braunschweig 14 Braunschweig 14

Traunstein 2 Rosenheim 2

Landshut 13 Landshut 16

Rosenheim 3 Frei 0

Firth 16 Braunschweig 10

Frei 0 Firth 6

Landshut 9 Traunstein 10

Traunstein 7 Rosenheim 6
Braunschweig 16
Frei 0
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Schleswig B4 | Traunstein |[9:0
Flrth A3 B.Hersfeld [|9:5
Gladenbach B3 Landshut Q-2
Braunschweig [;| A4 Passau 9:1
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